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75 W= B |

6) U HHID 17 H 20 TP UAD U9 & 4 3H MUiRd 2| TP SR & foIg eq AT e THT
150 ¥ % |

Instructions:-

@8 All questions are compulsory. Internal choice is given in every question from question no. 06 to
20.

2) Question no. 01, 02 and 04 carries 6 marks for each. Each sub question carries 1 mark.

3) Question no. 03 and 05 carries 5 marks for each. Each sub question carries 1 mark.

4) Question no. 06 to 12 carries 2 marks for each. For every answer word limit is 30. (approx.)

%) Question no. 13 to 16 carries 3 marks for each. For every answer word limit is 75. (approx.)

(6) Question no. 17 to 20 carries 4 marks for each. For every answer word limit is 150. (approx. )

901 TS U & fory Ry 17 fdwedt # & wd fawed g fafag| [1x6 = 6 3i®]
Select and write the correct option from the options given in each
question.

(@) TS HeTH IMIY H gelagiHl B AR Bl § |
1. 5.48x10% 2. 6.25x10'

3. 1.8x10" 4. 9.0x10"

(A) Number of electrons in one coulomb charge are :
1. 5.48x10% 2. 6.25x10'®
3. 1.8x10" 4. 9.0x10"

@) =i ared § ORI BT YA BT § —

1. e @ 2. Y& solggidl b
3. ARl @1 4.  gA@El &
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(B) In any conductor, flow of current is -

1. Molecules 2. Free electrons

3. Positiveions 4.  Positive charge
(@) TP TN MY ST BRAT & —

1.  @ad Rer fazg@ &= 2. ad gEog &

3. Rer fIgd &7 iR g &F 4.  STH 9 BIS TEI
(C) A moving charge produces -

1.  Only the static electric field.

2. Only the magnetic field

3. Static electric field and magnetic field both

4. None of these.
@) of &1 e amenlRd 8 —

1. ofder &Reor oM R 2, AT ERET e W)

3. oogAr WRE R 4. Sofl WRefur i W)
(D) Lenz’s law is based on

1. Law of conservation of charge

2. Law of conservation of momentum
3. Law of conservation of mass
4.

Law of conservation of energy

) fralq # fagd gra & @ =rd Bl ® —

1 Ko €0
I. «c¢= 2. c=Jp& 3. c=[— 4.  c=|—
v Ho€o Hoto €0 Ho
(E) Speed of electromagnetic waves in vacuum.
1 Lo 2
l. «c¢= 2. c= & 3. c=|— 4  c=|—
v Ho€o Hoto €o Ho
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(®) SUIAAT BT § UG & AAHA B HEd & —
1. =fdesor 2. fAgad 3. gau 4,  3uqcH
(f)  The overlapping of light in geometrical shadow is called

1. Interference 2. Diffraction 3. Polarization 4. Refraction

Ho2 e Al @ gfd sifeg — [1x6 = 6 3]
@) < FAR gRATE Areid aRl F U & e # aRT yarRd & € 8 A1 9 Wi
R B |

@)  TRABTHR e & RIgid R drf e B |

() OK (I DHfedd) W AGATAD, oo & W FTER HRar 2 |

(@) I BT fORM T, o BT B |

) f< arT & oIy WROT UfETd o BT T |

(B) TP D e @ foIU SIRIT & MHR & YHT & TITad B DI Bl
BT =AMLY |

Q.No.2 Fill in the blanks —

(@) When current flows through the two parallel current carrying wires in same
direction, then they will .................. each other.

(b)  Transformer works on the principle of ..................

(c) At OK (Zero Kelvin), a semiconductor behaves like ..................

(d)  The rest mass of photonis ..................

(e)  For direct current the inductive reactance is ..................

(f)  The Size of obstacle must be the order of wave length of light for ..................

b03 < AT Iray forlRgy — [1x5 =5 3i®]

(1) TIESIOT WA BT IJTIAT SHult 13.6eV BRill T |

@) 9 geIde™, U STd ol ARl ¥ A il erexer H fiRar ® r g9 ufshar
IE TP BIeH Sarid HRal & |

() ETssioM 99 @ fhar Al Tffer fodsd ) emerRa 2 |

(@) UBIRG dg, Afdeer & Agid R BRI SRl 2 |

€) M FHrEeT & Refa # @l greel &1 ol @ s fy — £, 8l 2 |
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Q.No.3 State true or false.

(a) Ionisation energy of hydrogen atom is 13.6 eV.

(b) When an electron falls from higher energy state to lower energy state, then in this
process a photon is emitted.

(¢) Working of a hydrogen bomb is based on nuclear fission.

(d) Optical fibre works on the principle of Interference.

(e) At the condition of normal adjustment, the length of tube of astronomical telescope is fo — fe.

Y04 W& SifSdl I9ISY — [1x6 = 6 3i®]
‘a g
1. eI a_a aq Rex
2. WIS aRA g S arel
3. G UbIY H. Lol oOmHEd
4. wH TR T e
5. U1l 9T UM &1 AR 5. ARDII
6.  goldg DI TIo B, IS
9 W
Q.No4 Make the correct pair —
% ‘B’
(1) Radio waves (a) Ritter
(2)  Ultraviolet rays (b)  de Broglie
(3) Visible light (c) J.J. Thomson
(4) Matter waves (d) Newton
(5) Equation of Photoelectric effect(e) = Marconi
(6) Discovery of electron (f)  Einstein
(g) Faraday
U05 TUdb Wk AT U Id H Ik QIoIg [1x5 =5 3i®]

(@7) gt @1 fagga fava foa=m grar 2|

(@) FIFTHT 97 BT A S.L ugfa # fq pife $1 Brar 2 |
() PRI 3R Tl Mgy H Fae faRay |
() fo=ft St &1 fRoan0 g1 SAH SHAA dieedr | FaT AfdE BIaT 2 |

)

4

IR ¥ G & ¢d fadel U4 IR gl T 2 |
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Q.No.5 Write the answer in one word or one sentence.

o6

o7

o8

(a) What is the electric potential of earth ?

(b) What is the order of the value of drift velocity in S.I. system.

(c) Write the relation between work function and threshold frequency.
(d) why the emf of a cell is greater than its terminal voltage.

(e) Why the poles of magnet in a galvanometer are cylindrical and concave ?

ot & forae forfey | 2
State (write) Lenz’s Law.

31erar / OR
FenRE @) uftara o aRafa S | s9@T1 S.1. Jr5d folReg |

Define capacitive reactance. Write its S.I. unit.

fosdl aRRuer # 0.1 AHTS H GRT 50 A ¥ 0.0 A (TPRER) 9@ AR g1 afe i
URd  faggd a1 de1 200 V& A1 URUY H WURE DI AThel DIy | 2

Current in a circuit falls from 5.0 A to 0.0 A (ampere) in 0.1 s (second). If an

average emf of 200 V included. give an estimate of the self inductance of the circuit.
31erar / OR

TP 60 uF BT FETRA 110V, 60 Hz AC TfT ¥ el 7 & | IRTT H gRT & rms A

Bl S B |

A 60 pF capacitor is connected to a 110 V, 60 Hz AC supply. Determine the rms

value of currenct in the circuit.

aredl | U BT 3T <@ & (oY fbd U BT SUANT fBar O &, iR @i? 2
Which mirror are used as rear view in vehicles and why?

31e0dar / OR
Jade SUUT &A™ HT AT AR Flell wx far oirar g1 ufafda W @ ywma
TST?
Half of the bottom part of concave mirror is balck ended. What will be the effect on

the image?
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Y09

010

Jo11

U012

o<l gaTef BT SruadHid V2 £ 1 3D foU HiRIe BT BT HF 9T BT 2

The refractive index of a material is /2. What will be the value of critical angle for
it?

3rerar / OR
T GG SR @1 AT AT 15 T QFl ol @ a1 a4 80 WHI T |
afe Afgeasd iR A@E IEl SOd o @ I SAdl Biew §RAT B IUET
I |

The magnifying power of a astornomical telescope is 15 and distance between two

lenses is 80 cm. If both objective and eye piece are convex lens then calculate their

focal length.

o 9 g yerR &1 axurT forfa gier 2| 2
(1) fag @a (2) =T UBIRT WA

What type of wave front will emerge from

(1) a point source (2) distance light source
31rdr / OR
US Sl Hdg A’ BT URATT HIY |

Define the term “Coherent Source.”

I WA # Soiggia ReR 8 o @ g 2
What will happen if electron in an atom be stationary.

Jierar / OR
“g$ DT B o BU B YHIUHE & Y, dael WA BT A0S & NFHIR BT B 1
AT D AT HIFTT |

“For large angle scattering of a particles, only the nucleus of atom is responsible.”
Explain the statement.
S &l Fa1 8? uRaINd Hifeiy | 2
What is mass defect? Define it.

31eqdr / OR
fear Yfaeaar o aRwifva Sifog |

Define radioactivity.
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Y013

U014

o015

o016

Bl fagd A & ofdRe UfRIEr &I UR|INT BT | $9@T 714 fha—{bd BRI

R qAT fd UpR iR &=ar 82 (@13 Q) 3

Define internal resistance of a cell. On what factors it depend and how. (any two)
31e0dar / OR

fosdt garel @1 wieREg®Ear & aRYINT SIRTT | 919 & A1 (i) 3BT ATad (i)

SgaTeld @1 UfREGaT fha geR aRafa gl 87

Define resistivity of a substance. How the resisitivity of (i) Good conductor (ii)

Semi conductor, vary with temperature?.

qE—vac &1 frm foRay qer 59 o &1 afesr s d @rad Sy | 3
State Bio-Savart law and write it in vector form.

31erar / OR
UPIIR 1 aRueily 4 feifay ud Rig Hifeiy |

State and prove Ampere’s circuital law.

N-UR Td P-UbR & Agaradi # AR falRay | (@1 §F) 3
Write the difference between N—type and P—type semiconductors. (any three)
3gdr / OR
91 (F9) srgarerd SR sl ifarad # iR fofay | (@18 =)
Write difference between Intrinsic semiconductor and Extrinsic Semiconductor. (any

three)

P-N 9 SRITS &1 Ul @R fAChRl & ®©U ¥ IUINT g URUY ARE Hifeg g
Ud prifafe qHesy | 3
Explain the working of a P-N Junction diode as a full wave rectifier with circuit
diagram.
3120dar / OR
P-N 9 SRiIe & SRR onr W=t vd uva fAfd H fOga sma Wi
AHHATRY |
Explain the working of P-N Junction diode in forward bias and reverse bias with

circuit diagram.
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o017

U018

U019

U020

faega &9 & o i 1w foRa vd Rig @R | 4
State and prove Gauss Theorem for electric field.

31eqdr / OR
FAGR Wic LIRS T gkl 8 ol Jed~ DISIQ | $HD! GTRAT BT DIA—DI
H PR YATAT B 27
Deduce a formula for the capacitance of a parallel plate capacitor. What are the
factors affecting the capacitance of capacitor.

fga ecas dae fevd® & ami forgq faRey d fagd aRuy s=d gu e
DI | 4
Write Kirchhoff’s both laws of electric network and explain with draw circuit
diagram.

3ferar / OR
RITEIF A T 87 BIC A I NG RI1Ud I |

What is wheatstone’s bridge? Establish principle of wheatstone’s bridge.

U] R ST &1 919 -feRad efivei & raiid SIfoig— 4
(1) faera () Tmifdd Yo (3)  PrfAf
Explain alternating current Dynamo under the basis of following heads :
(1) Principle (2) Labelled diagram (3) Working

31erar / OR
q b TN W fOrud §Herely ddl uRAfdT @ oy oI URded & ASTd
I BIRTY |
Derive an expression for mutual inductance of two long coaxial soleniods of same
length wound over each other.

YT eael Bl quid freifbd 2Nel B swia By — 4
1. Ui 999 & Faer &1 faRor IRg
2. SfaEd &gHAT & GF DI WU Sidie SifaH uffdd W gfte @ =gaas 0

WR |
Describe compound microscope on following heads -
1. Ray diagram of formation of image.
2. Derivation of formula for magnifying power when final image is formed at
least distance of distinct vision.
31erar / OR
fodt firon & fory g @IfvY —
. (A+6m
sin(220m)
H=——7a
sin(2)
For any prism prove that
. (A+6m
_sin(55)

s
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